
Find 1s, 10s, 100s and 1,000s More or Less

1. Starting with the number represented 

by Base 10, complete the calculations. 

What is the final answer? 

5. Sinead thinks of a number. What 

number did she start with? 

2. Put these numbers in order from 1,592 

to 3,092. The numbers increase by 300 

and some have been covered. 6. Fill in the blank cards in the sequence.

What is the sequence decreasing by 

each time? Explain how you know.

3. Match the letter of each calculation to 

the correct answer. 

7. Kelly says, 

Correct Kelly’s answer and explain her 

mistake.
4. Complete the calculations.

1,592 3,092

1,892

Add 2,000 to 6,705, then 

add 300. 

Subtract 600 from 4,665, 

then add 4.

Add 3,000 to 1,205, then 

subtract 200. 

4,005

4,069

9,005

A.

B.

C.

A.

B.

C. 1,330 – 6 =

4,155 – 200 =

5,778 + 40 =

Kelly

When I add 600 to 

2,799, I get 8,799. 

6,893 6,863 6,773

I add 3,000 to it, subtract 70, 

add 4, then subtract 200. My 

answer is 5,099. 

Sinead
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• Add 80
• Subtract 

2,000
• Add 200


